20.66
LN
=)
16.07
INSTRUCTIONS:

1. Install front mounting bracket using the factory screws
2. Install rear mounting bracket using provided #10 screws
3. Bolt cab organizer to mounting brackets using /4-20 screws

NOTE: No drilling required. Use the factory holes in the seat boxes.

20.

2250 ———

g

10.50 18.50

[0 -
50 ﬂ . .
A
[

041065

7 N/A 2 Key (Make Sure Keys Fit The Lock)

6 642026 2 10-24 Flanged Nyloc Nut — - -

5| 642031 2 |10-24x 5/8' Pan Head Screw PRI oo Tramsit Cab Organier )

4 642062 4 1/4-20 x 5/8" Pan Head Screw Rev. Weight | Material Item No.

3 041066 1 14+ Ford Transit Cab Organizer - Rear Mounting Brkt -- 17.50 Lbs. .080 Aluminum 040008

2 041065 1 14+ Ford Transit Cab Organizer - Front Mounting Brkt (Without Hand Brake) P%g;.;%}:‘gg;?g%%zgé;;'ﬁw SIE bate 5/2/2022

1 049008 1 14+ Ford Transit Cab Organizer - Asm. (Without Hand Brake) 7541 Chapman Ave Unit B R%ﬁﬁgﬁﬁmg‘.ﬁ?ﬁi@é &’T‘oﬁ%ﬂm A Drawn By. S.Gutierrez
# PART NO. QTY. DESCRIPTION Garden Grove, Ca 92841 J&M TRUCK BODIES IS PROHIBITED. SCALE: 1:6 ‘

T \

5 4 3

2

1




	040008_BOM
	Drawing View5
	Drawing View6
	Drawing View7


